For #1 to #5, choose the best answer.

1. What is the solution to £ = —12?
A x =36 x=4
C x=—-4 x = —36

The force, F, in newtons, required to
stretch a spring a distance, d, in

centimetres, is represented by the equation

F = 15d. If a force of 38 N is used, how
far will the spring stretch, to the nearest
tenth of a centimetre?

A 0.3cm
¢ 2.5cm

B 0.4cm
D 2.6 cm

What is the solution to 57 _ 7 = —4?

B n=1

A n= %
31
5

n = D n==—7

Which of these equations has the solution
p=-—62
Al 4=

3.

p
¢ L _4-22

-3
Wanda solved the equation 4(x — 3) = 2
like this:

Ax-%=1

Stepl  4x-1L=%
Step . 4x=10
Step > x=%
At which step did Wanda make her first
mistake?

A Step 1
c Step 3

B Step 2
D No mistake was made.

Complete the statements in #6 and #7.

6. The opposite operation of division

is I

7. The solution to —4(y + 10) = 24 is
y=MR

Short Answer
8. a) Draw a diagram that models the
equation —3x — 4 = 2.
b) What is the solution to this equation?

9. Dillon used algebra tiles to model
a problem.

0000 . g

0000 gm

a) What equation is being modelled?

b) What is the first step that Dillon should
take to solve the equation using the
algebra tiles?

10. Solve each equation. Verify your solution.

a) 4x = 48

a2k —6=31 m§-5=16

q3;g=8 f) 12 =4(x —2)
11. a) Describe the steps you would take to
solve the equation —3(b + 3) = —15.

b) How are these steps different from the
steps you would take to solve the
equation —3b + 3 = —15?




12. The surface elevation of Lal%(j, Louise is Extended Response
1536 m. This elevation is 45 m higher
than seven times the elevation of Lake

14. a) What is wrong with the method used
to solve the following equation?

Athabasca. _ —6—18 + 3x

a) Choose a variable to represent the —6+18 =18 — 18 + 3x
elevation of Lake Athabasca. Write 12 = 3x
an equation to model this situation. 4 =

b) What is the elevation of Lake
Athabasca?

b) What is the correct method?

15

The formula for the perimeter of a
rectangle is P = 2(/ + w), where P is the
perimeter, [ is the length, and w is the
width of the rectangle. The perimeter
of the rectangle shown is 14 cm.

13. The length of a rectangular vegetable
garden is to be increased by 3 m. The new
garden will have an area of 90 m?. Write
and then solve an equation to determine

s the length of the original garden.

a) What is the length of the rectangle?
Check your solution.

b) Another rectangle has the same length
as the rectangle shown but a perimeter
of 12 cm. What is the area of this

rectangle?




